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2338 ¥=¥-1:5=5+2
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2850 IF (2 AND SK(3#+2) THEN FLAG="1
286 IF V-0 THEN W=1 :U-=1:FLAG=]

2878 IF U=0-1 THEN 2890
2889 GOTO 2790
2890 ¥=1:T-1

= 2908 FOR 1=1 10 Q-2
2918 A=1/4- (INT(T/0)

2020 IF A=.25 (R A=.5 THEN P(Y, D) =-P(¥, D
2980 T-T+1:NEXT

2049 IF QONSE THEN GOSUB 3100

2050 RETURN :END
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| 3000 IF M(I,J)=8 THEN M(I,J)=P(I,J)

© 3010 NEXT :NEXT

3020 FOR S=1 TQ MSE-1-:FOR P=S T0 NSE

3039 M(MSE+1-S,MSE+1-P) =-H(S,P)
“3848 NEXT :NEXT
-3050 FOR 1=1 TO MSE:FOR J=1 TO MSE

3060 Z1=M(1,J) :72= (1+MSE-MSE+Z1) /2:M(1, ) =Z2
~-3070 NEXT:NEXT
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3178 W(C) =P(J, Q :C=C+1:NEXT
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3230 RETURN :END
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2578 N=(Q/2) -1:¥=Q-1:5=1:FLAG=8:U=Q
2588 P(¥, ) =4=NsN+S

2500 IF U=Q-2 THEN 2650

2608 IF FLAG=0 THEN W=¥-1:5=5+2

2618 IF ¥=1 AND FLAG=0 THEN U=U-1:FLAG=1:GOTO 2588
2829 IF ¥=1 AND U=Q THEN U=1:S=5+2:FLAG=1:GOTO 2588
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2840 GOTO 2580
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2108 A=1/4-(INT(T/4)

2710 IF A=.75 0B A8 THEN P(J,Q=-P(J,Q
2120 T=T+1:NEXT

2738 IF-QO MSE THEN GOSUB 3100

2740 RETURN :END
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699 X=1 :Y=1 :C=-2 :D=8 :I=(P+1)/2-1:J=(P+1)/2 :GOTC 720
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819 IF J> P THEN J=J-P

828 GOTO 730 |
839 CLS :PRINT
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1018 Q=1:FLAF-=1

1020 IF T<1 OR T>8 THEN FLAG=F:GOTO 898

1038 ON T GOSUB 1050, 1089, 1119, 1149, 1178, 1208, 1230, 1268

1048 GOTO 1278

1050 FOR I=1 TO P:FOR J=1 TO P

{ 1068 S =A(J,P+1-D):Q=Q*1

~1070 NEXT :NEXT:RETURN

"1680 FOR =1 TO P:FOR J=1 TO P B

1890 S(@ -AP+1-1,P+1-D) 10041 i
1108 NEXT:NEXT:RETURN % iﬂ )
1116 FOR 1=1 TO P:FOR J=1 T0 P B u é
[ 1128 S@-AP+1-4, D041 i
-1130 NEXT:NEXT:RETURN ‘
(1140 FOR 1=1 10 P:FOR J=1T0 P s
1150 S@ =A(1,P+1-0) :0=0+1
1160 NEXT:NEXT:RETURN & 6 90 £ fie 8
K P55 4

1179 FOR 1=1 TO P:FOR J=1 TO P
[1188 S(@=A(P+1-1,J) :Q=0+1 _e—_ g
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1208 FOR 1=1 TO P: FOR J= 1 TO P % o
[121@ S =AW, 1) :0=0+1 4 3 et
11229 NEXT:NEXT:RETURN o

-1239 FOR 1= 1 TO P: FOR J=1 TO P 5

%1240 S(Q =A(P+1-J,P+1-1):Q=Q*1

-125@ NEXT:NEXT:RETURN

1260 FLAG=F:GOTO 890 :

1270 Q-1 budis Ty
~1289 FOR 1=1 T0 P:FOR J=1 TO P 270 et
£ 1298 A(1, ) =S(Q :Q=Q+1:NEXT :NEXT
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AC1, 1)=78 Ti= HH=HEEN= 3
Al l, 2 =71
AC 1, 3)=7 18 ERHEHNBERE 1 - 16
ac 1, 4)=1715 .
AC2, 1)=711 ETEDENRE = 13
Al 2, 72 =114 S LS
AC2, 31275 FERENERFRERMER am v
Al 2, 4):=74
AC 3, 1)=7 13
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AC &?;73 AR B
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1788 FOR 1=1 TO P:¥OR J=1 TO P
iv98 IF HSE <>8 THEN A(I,J)=}(1,J)

EAE—FBER y [E 1 1838 NEXT :NEXT

(£ 2 o) EERES am 2y 1610 BS=GeGr( 1+G%0)/(2%G)

TE T — D 74 1828 IF A(G,6)=(1+(GxG))/2 THEN 2048
If 2 2] 5 1 ﬁ 74 1838 FOR H=1 TO G

T 2 ; (%D 19 1848 ACH,8)=8: (8, B)=8: U=0: A(A, H)-0
A4 ; ,EF% (M) 7 ¥ 1858 HEXT

mEZ VBT I BE vy 7 N 1868 FOR 1=1 TO G : FOR J=1 T0 G

104 BBfs +-%-# R7723 A8



1878 S1=A(I,J):4(1,8)=51+A(1,8)

. 1888 IF I=J THEN A(8,8)=S1+A(8,8)
1892 IF [+J=G+1 THEN W=iHS1
1978 NEXT:NEXT
1919 FOR J=1 TO G:FOR I=1 T0O G
1928 3Z=A(1,0):A(8, J)=S2+A(A,J) 'NEKT :NEKXT
1936 FOR I=1 TO G:FOR J=1 TO G
1948 IF A1, 8048, J) THEN 2844
1958 IT 408, H<>A(9,8) THEN 2048
1968 IF A8, 83OH THER 2843
19768 1T {>BE THEM 2842 NEKT (NEMT
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4. BURFEIHERE R 22
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PRINTER ,
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